
 

 

A. Choose the correct answer: 
1. What is 12 × 3? 

 a) 36    b) 30 

 c) 32    d) 34 

2. 24 × 2 is equal to: 

 a) 46    b) 44 

 c) 48    d) 40 

3. 15 × 4 equals: 

 a) 65    b) 60 

 c) 70    d) 75 

4. What is the product of 20 × 6? 

 a) 100    b) 140 

 c) 120    d) 130 

5. 11 × 9 is: 

 a) 88    b) 91 

 c) 99    d) 93 

B. Write the Missing Terms to Complete the Sentences: 

 1. 13 × 5 = ______ 

 2. 16 × 4 = ______ 

 3. 22 × 3 = ______ 

 4. 18 × 2 = ______ 

 5. 12 × 6 = ______ 

C. Mark each sentence with a True (✔) or False (✘): 

1. 10 × 10 = 100  ______ 

2. 14 × 2 = 28  ______ 

3. 19 × 5 = 85  ______ 
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4. 20 × 3 = 90  ______ 

5. 17 × 0 = 17  ______ 

D. Figure out the answers to these questions: 

1. Multiply 25 by 3 

2. Find the product of the largest 2-digit number with 2 

3. Write two different multiplication facts using 2-digit numbers 

4. A box has 14 pencils How many pencils are there in 6 such boxes 

5. If 12 × 3 = 36 then what is 3 × 12 

E. Challenge yourself with these questions: 

1. A shopkeeper sells 22 chocolates daily How many chocolates does he sell in 7 
days 

2. A bus covers 18 km in one hour How much distance will it cover in 5 hours 

3. Each student has 13 books How many books do 4 students have 

4. A farmer has 16 sacks of wheat Each sack weighs 25 kg Find the total weight 

5. Match the following 

a) 15 × 4   i) 66 

b) 21 × 3   ii) 80 

c) 20 × 4   iii) 84 

d) 12 × 7   iv) 45 

e) 22 × 3   v) 63 
 

  


